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.
(2)
eV 1 923, 940
(ES T TA77 MR BEEEE 15emEL T
)]
m2 220 , 832 403, 040
(ES T TA77VMEREERR SRR 18 ¢ m
(2)
m2 280 , 071 299, 880
VI Sk E R
eV 1 410, 997
HTUSHREIT S 2 D300 2000 FFI 2=
)]
m 27 , 757 128, 439
HTUSHREIT S 2 D400 X 2000 FFFI 2=
(2)
m 4 , 835 23, 340
(EES R eN B300 X H400 L=2000 FFIMH ik
4)
m 34 , 556 188, 904
BIUHEWTE R B400 X H400 L=2000 FFIMH ik
(5)
m 2 , 634 13,268
AN B B300 X H300 L=2000 FEFI A=
(3)
m 1 , 500 4, 500
G ES B300 X H400 L=2000 FEFI M7=
4)
m 3 , 500 13, 500
G ES B400 X H400 L=2000 FEFI A=
(5)
m 7 , 578 39, 046
BAMET
eV 1 2, 067
AR T vy IS FK-2a-20 FFI 2=
m 1 , 067 2, 067
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(BRI SEAr T 1 T A Hde 4k 1 &7

Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
TE AL T
= 1 498, 519
I TAT7 b EEERRE L=21. 9km
m3 63 5, 777 363, 951
ALy TAT 7V bk
m3 63 2,136 134, 568
TE T
= 1 749, 958
P T
= 1 749, 958
FEHIA (h=27) -1+ H50, 000m3 A
[2f]
= 1 24, 838
ER L STR T REG~05Y  ER R
L=20. 2km
[2f]
= 1 384, 120
b5 e Y Uy
[2f]
= 1 341, 000
[EEE AR
= 1 40, 452, 220
MR E
= 1 5,531, 845
BTl TE:
= 1 673, 334
T
= 1 41, 565
AR T
= 1 41, 565
HTE
= 1 168, 102
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(BRI SEAr T 1 T A Hde 4k 1 &7

Bl =%

THEX Sy« T - R - A5 B B B B G = A & H (GRS
EREETY ¥ 271H B A HEBR (URR) (9HE &
B (LRAR) L 757 b HH R (
LR A)
= 1 168, 102

= 1 463, 667
HimEpE (FE L)
= 1 4,858,511
g
= 1 45, 984, 065
BTk Xegiiv oy
= 1 22, 638, 810
R 5]
= 1 68, 622, 875
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